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EA: NS
Y OFA AN MN=2tel
e MMM SEYH (2 &HH)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Ml 2 1t 1,667,895 1,670,843 N 2,948
= 100,450
= 35,888
Al 1,531,557
LM M ANl £=2t2| 1,563,915 1,557,803 6,112
=2 100,450
o= 35,888
Al 1,427,577
ANHAMHY SEYY 950,904 909,950 40,954
NELLE X 892,969 863,016 29,953
201 et 468,675 418,500 50,175
01 AP 2t 2] H| 37,000 44 604 ANT,604
OFEPE T2l A2 E F22H|
400,000 x3CH *33] 3,600
OLNST2EH(DRNAN SEHE) AR2E R
1,000,000 *3CH 43 12,000
OXNYM DXA HEH(SEHAAM S)
48 000 »1008 A 4,800
OXNXAN &5 =5 HEH| 4,000
OX A MoARE = 100,000 x13H *13] 1,300
OXNEMN DNE(ELZ) I MZE  6,0002 x500& 3,000
OFSH S HNE EE22 HMZH|
1,000& *2,500& 2,500
OXgNEHZE & THFRUH(2Y,SHS
90,000& 50 4,500
OXNEBAM Ha(28) S AMAH 2FAHH
100,000& = 1EA 100
OHOlE ARSHRAAL SUEE 242
100,000& 12& 1,200
02 =224 H| 431,675 373,896 57,779
OXNLMIDRA &s QER2(2X, SHE) 406,715
OdBHADl, S5, &=Al2)
380 x748,944 % 284,599
OEDI(308t: 0] Aah) 2,480& x34,200%& 84,816
OHMl 22,4802 x15,040% 37,300
OMRS 3l 0ls& 650,000& x12& 7,800
OMNMYEE E0l= ARSEHEAAE SXNEL
1,430,000& x12& 17,160
203 €2 F=&d| 2,500 3,000 A 500
03 Al ZH =X 2= XH| 2,500 3,000 A500
ONLZSHE 24 AIHIER =X 2,500,000& 2,500
204 &R AH| 40,800 40,800 0
03 EHY LAY 40,800 40,800 0
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M2

=Ry orm* 22l
Sl XHNY 2ESH (erel:@e)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONSE2g 2d AREstl
100,000& 34 »12& 40,800
301 LEHZ 17,000 17,000 0
12 JIEBHE4 = 17,000 17,000 0
OXZAN da(2Y) GMI 243
30,000& x500H 15,000
OXNEAN EE Z0 - ZTAH S2H Al&Z
2,000,000 » 14! 2,000
303 Z& = 60,000 13,000 47,000
01 243 60,000 13,000 47,000
OSHE MESEHI ML (MEH EIt =
&) 13,000
Ozls=+ 3,000,000& 1 2 AN 3,000
O%= 2,000,000& 374 = A 6,000
O&d 1,000,000& =40 £ A 4,000
ONEEI R38E A 200,000& =85H 17,000
OM=RIE22 HdXRX A 30,000,000& =14l 30,000
306 ¢ 2 24,129 28,613 A4, 484
01 &3 24,129 28,613 N4,484
OXLN AR EAS
185,608,854,000% *1.3/10,000-1,000& 24,129
308 A EHHSOIA 66,485 58,364 8,121
113 2SoHUHeSZHEAEALS I 66,485 58,364 8,121
OEEXNZAM FEANAE RXE
5,341,00 °4*12£+4 000& 64,096
OXMUXNLEMEZALY SXEx
199,000& x12&+1,000& 2,389
403 MHXHHSA=0l& 167,480 132,839 34,641
02 SO 2SOICHsH A2 X 2 A I 167,480 132,839 34,641
OXHUKISHEBAAE 25 (2CHH)
167,480, 000& 14 167,480
405 TtabH S| 45,900 0 45,900
1 AR =SS H S 45,900 0 45,900
OsEE=gIl 7Y 45,900,000+ 1CH 45,900
NS ZEAL & A3g= 30,001 21,000 9,001
201 24l 25,001 16,000 9,001
01 At 2t 2l 25,001 16,000 9,001
OHgeAXLASAH & 0N S22 MH
3,000& «1,000& 3,000
OYAXLA AU (NREA S) MH
10,000%J *300E @l 3,000
OXEA e Eaesd M
10,000& =1,000H 10,000
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EM: NS
Y OFA AN MN=2tel
e MMM SEYH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OALASHSAI =S (FSHEEUME2FA)
5,882,460% 23| *4/5-3,300, 000 x23| x1/5 8,092
OASUXH & S (FMSHEEUMHEFA)
1,135,080 13| *4/5 909
303 ZA& 2 5,000 5,000 0
01 A2 5,000 5,000 0
O=2HY g=2 AL AS 200,000 x25H 5,000
AH S22 22l 27,934 25,934 2,000
101 Q24| 2,434 2,434 0
04 JI2tHIZ22NEE S 2,434 2,434 0
OKXNLUASH ADHE O1AHH|
81,120 » 1«30 2,434
201 LBt | 25,500 23,500 2,000
01 AP 22| H| 19,900 19,660 240
OXEAM DXA ME(ZCM S)
66,000 2008+ A 13,200
OX BN E22 HME(ZLA S)
1002 «64,000& 6,400
oasH = 300,000 *13] 300
02 222 H4| 5,600 3,840 1,760
O=ZNAEBNSIH SAY AXH &L Sadl
5,600,000& *1& 5,600
NeA 22 M2 373,591 408,495 A 34,904
& 35,888
Al 337,703
Meae 2 M- SO 158,183 150,893 7,290
201 et | 55,564 54,164 1,400
01 AP 22| d| 55,564 54,164 1,400
O MHEOAZM 2 36,200
OXZA - HAE= 2EZ2HE =2
80& 50,0001 4,000
OMRS(XIEANAZIIE Z2H =482
2203 13,6361 +80& 3,000
OAM2Ee AE3te HH &2
445 454 5009 *2.2/100 9,800
ONMEY aE&ote Z2H =2
445 454 5009 %2.2/100 9,800
OIAAHZOIH =2 802 x120,000AH 9,600
OX A JFAHIAAE KA
676,000%12& 48,000 8,120
OMEBEYZ ASEIE o) FAE4H|
8,800 x15J A x12& 1,584
odEdE0E2 & dYFHZIANAE OS2
421,660 «12€ 5,060
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&2 XYA =8 M2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OPOP-TAX A EJEZMAIAE S X E2=H]
300,000& »12& 3,600
OM2=e DXNAM HZ 62,5002 16 A 1,000
308 XXM SOIA 27,944 25,759 2,185
3 2SOHetE & X AL I 27,944 25,759 2,185
OM2=e FEAAE X2t
2,328,666& x12& 27,944
403 MtXISHHE X201 & 74,675 70,970 3,705
02 SO 2SHHEAE R 2 E AL B 74,675 70,970 3,705
OXMICH Mol AAE 2SAHSHI
74,675,000 » 14! 74,675
NEA MENz E= 215,408 257,602 AN42,194
< 35,888
Al 179,520
101 @124 dl 124,588 147,202 N22,614
< 35,888
Al 88,700
03 RIAHAZZ2TE = 124,588 147,202 N22,614
OXNLN HMIASHEE 2AH|
1,993,000 3% «12&+28,000& 71,776
< 35,888
Al 35,888
OXZHMEAMAUISHE AAH (=)
1,467,0002 x3H x12& 52,812
201 L4l 55,820 60,400 A 4,580
01 At 22l 43,280 49,180 5,900
Ost=2XHat2el SAF SO =2
200,000& 352 7,000
OHEX 2R s8HAH NS ===
2,000& =1,000A 2,000
OXNSI HS T IXXE AIAE =4HH|
500,000 *43| 2,000
OMENZ ==& IXA 60,000& 2002 A 12,000
OXEZE0E & dNLF2CIAAEH 0182
1,357,000& »12&-4,000& 16,280
ORsSHUe Sl =8 400,000& x10H 4,000
02 =224l 12,540 11,220 1,320
OMEXE s AXANAHE RIE=H|
660,000& »12& 7,920
OXtg & et 3,900
OXNg==MU 1,500& x150£ =128 2,700
OxgdEH XY ¥ 2254
300,000& *43| 1,200
O2HtY g IXAAE Sl
60,000& 123 720




2N N2

I A Ns2el

&2 XYA =8 M2 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
303 Z& =3 35,000 35,000 0
01 X432 35,000 35,000 0
OMAEA H2SI AL+TAS
1,700,000+ 1 =122 -400, 000& 20,000
OMEH(NLNESEZAS(SHSEE)
300,000& x50 13| 15,000
JHE FEILA AL 239,420 239,358 62
=2 100,450
Al 138,970
TH&EAISL A 16,200 16,200 0
201 Let24dH] 16,200 16,200 0
01 At 22/l 16,200 16,200 0
OTMHAM DXIM HE 66,0002 200 A 13,200
OMLA E22 M 1,500, 000& 22| 3,000
HE I AL &HE 223,220 223,158 62
= 100,450
Al 122,770
101 14l 54,000 54,000 0
= 24,300
Al 29,700
04 J12ZtHZ22EaE =+ 54,000 54,000 0
OMNEFEDIA EF I A 12|
90,000 x15% x40 54,000
= 24,300
Al 29,700
201 et 166,220 165, 158 1,062
= 74,800
Al 91,420
01 At 22l 166,220 165, 158 1,062
OME=EIA HAE =3 6,400&%23,700= 151,680
= 68,257
Al 83,423
OMg=edtd 228 L M= HEUl
794,000& %103l 7,940
= 3,573
Al 4,367
OMNEFEHASTHIZ ) (HPMAP) SXIE =+
3,300,000& »23l 6,600
= 2,970
Al 3,630
202 O4dl 3,000 4,000 21,000
= 1,350
Al 1,650
01 =S LHA YI 3,000 4,000 A 1,000
OMNE=EDIA T A O HI 150,000%2Z »10& 3,000
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X ZH -
L= B

el

A= 1
HEA MN=s2tel

N F=e0hA E A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

= 1,350
Al 1,650

HY2FZH (MR 103,980 113,040 A 9,060

Jl=&l 103,980 113,040 A 9,060

2Bt G| 103,980 113,040 A 9,060

201 Let24dH] 43,800 46,800 A 3,000

01 At 2teltl 43,800 46,800 A 3,000
©F=R<Iget=:]l 90,0003 x25H «12& 27,000
O =&l 8,000 x25H 7 x 128 16,800

202 oddl 54,000 60,000 A 6,000

01 SLHOYI 54,000 60,000 A 6,000
OYRF=& JIE20nHl 180,000& »25H «12& 54,000

203 YR =&l 4,980 5,040 260

04 RENSEHR=LH 4,980 5,040 A 60
ORN2IYSZ=AHI 415,000& x12& 4,980

204 AR A H| 1,200 1,200 0

01 Mg 1,200 1,200 0
OXMGHE = HH| 100,000& =12 1,200




